2015000000 ooooudyn
Juooouotdtd 1004 3000

1.0000000000000 00000 10em 00 10%00 0000 090%

000000000000000000000000000 1. 000000
000000 200
20000000000000000000 3 000000000000

000000000 4 (00000000000 5 00
3.0000000000000000

B r(my +n, + Ap) +1,(p, + p, + Ap)
- N 7 7 +p, +A
IFFFE(HU Py P) OO0 nlOO0O 6 MO0

Joooond 1.35evldEt00O0O0 0.12evii0 0 EFOODO 03levU OO O OO
HREEN 7

40 0000000000000 boubouboubod googodog 960 10

SPOOUODD NOOOOOOOOOODODOoODODODOOOOOOOO 211,12,
00 13 _.000000 Si,Ge,GaASUU DO PNOOOOODODDOOO _14

.00 0O0OO0OO0OO0OUOO nO0OO00O0U0UOOUOO0 nOUOO00OOOOO
Jo0oboouood oo n oo doon oboooogd 0.03%VvU

300k U0 EF DD UOOOOgd 0.026ev 0000OOOOO _15 Jog ,.0od
ool mgboobod 16

70000000000000000000000000 000000000
00 18

8000000000000D0D000D0DD0 00000D0D00000O000
0000000 19 00000000000000000000 20 [0

Jogboogodbotdotobogl pNOUOOUOLOOLDOOOOOOOOOOO
21

ouuoonoooung abcOOODDOOOODOOOO 22 0000
Jo0o0oooon 23 ObO0OO0ooooooooon 24

-

10000000000000000000 000000000000 TOOO
00000 26 00000000000 O0O000OOO 000O0OOO0O0OOO
000 Si00000O0 _ 27 00000



Joooooodo sboodd 2500

1.00000

20000

3.0 0

400000

sugoogg Mostuo

Jooodotd 1oo00tdtd e0 00

1.00100 01
Si0 GedGaASIODOODOODONONONOOOOOONOONONOOOD



NI - %
/“H. \‘ X :t::
/ I\ |
| .-"“""; r i 1.[}/ .
| 3k
? . —— " ' TR
| // h\ | / N\\
:L__{f £ _,-#I EIH'. | | = / :I;/ \ 1\' |
[N 4] 1\ |
- [111] -Ei k—-;nm] ) X [111] === k—--[tn:nl]

O GaASU U0Ouodoooouoonoood 02 evUUbUoboooug o
DO000doon GaASO Sid celUODDUOOOOOODODDOUOOO

2.(10 00 )

2.000000000000000000000000O0DOO0DOO0ODO0OO0
googboogoug

3.(10 0 )

oo bbbt obobooogg Joog
googoodgotdod

4.(100)

ogbogotdbotdbotdbobobod guotdbtdbotobgbogbodd



5.(10 O )

gubootdbootdbobotgdbgtdbootdbotbbtgtdbgtdbootdbood
HEN

6.(10 O )

Joooooogogd

Juooot 3500

1.00 GeOUOO NclO NvOOOUOOOOO ngdodoooooooog

igl(j? I ])

iy m,

oo 1500

201000
o0 NA=10lecm-30 0 U0OOOOOO 1lus pPOOOUOOOOOO
oottt obooogogno -ogoooood

0000 Et=Eil1]

3.(100 )

n0 MOSFET 000000 un=650cm2/v?stox=200? 0 W/L=50 0VT=0.3V [
£ si02=3.90¢ 0=8.85? 10-14F/cmVGS=1.4vO 00 VDS [0 0.3V 0000 VDS
0 2500000000000 01000



